The perimeter of .o regular pentagon is 20 inches.
What is the length .of each side, in .cm?

Phillips Ldowa jumped 16.5.m in the triple jump .at the London
Olympics last year.
The winner jumped 18.3m.
How much further did the winner jump in inches?

James is |.45m tall, .and Jodie is 60 .inches.
How .much taller is Jodie than James? Give yowr .answer in cm .or
inches

3 pencils .are laid in one long line on the table.
The first is l6em, the second 8 inches, .and the third |&4.cm.
What is the total length of all 3 pencils, in inches?



